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Match the following scatterplots with the equation of their trend lines.
1. 
2.      :  y = 2x + 1
3.      :  y = ½ x - 2
4.      :  y = x + 3
5.      :  y = x - 4
6.      :  y = -x 









Graph A
Y-Values	6	5	3	4	2.2999999999999998	4.5	5.5	3.3	2	1	-1	0	-1.5	0.75000000000000011	1.3	-0.8	Graph B
Y-Values	6	8	10	4	2	14	12.5	10.5	7.5	1	2	3	0	4	5	4.5	3.7	1.5	Graph C
Y-Values	2	-1	-2	1	1.5	-1.75	0.5	-0.60000000000000009	2	2.2999999999999998	-2.7	-2	1	2	-1	-1.75	1.5	-0.60000000000000009	0.5	2	-2.7	2.2999999999999998	Graph D
Y-Values	1	2	2.5	0.5	1.5	3	0.25	3	5	6	2	4.5	6.5	1.75	Graph E
Y-Values	1	0.5	3	2	3	1.5	2.5	0.75000000000000011	3.25	4	3.5	6	5	1	4.2	5.75	3.9	6	